AP Exam Review MC 3 #33,35-40, 42-45,47-49 NON-CALCULATOR

Google Form MC Entry (14 questions)
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(A)0 (B) 3sec? (3x) (C) sec? (3x) (D)3cot (3x) (F) nonexistent

38, What is the average value of y for the part of the curve y = 3x - x* which is in the first quadrant?
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The sides of the rectangle above increase in such a way that %=l and %sﬂ%.
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At the instant when x = 4 and y=-3,whnisdnvalueof}-’-?
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45. For what value of x does the function f(x)-(x-Z)(x-B)’ have a relative maximum?
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(A) ~3(B ~3 (C)'--z- (D) 3 (E) >

a7.1f j(x)-sln(-;-).thenthuecxlmamw ¢ inthe interval %<x<37' that satisfics the

conclusion of the Mean Value Theorem. Which of the following could be ¢?
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48.18 £ (x)=(x~1)"sinx, then £"(0) =
M-2  ®-1  (©0 ™) (])2

49, The acoelerntion of a particle moving along the x-axis at time #is given by a(r) = 6¢~2. If the
velocity is 25 when £ = 3 und the position is 10 when 7= 1, then the position x(r) =

(A) 9% +1 (B)37 =244 ©r-f+446
M) £ 1 920 () 36¢" ~ 46 =771 455




